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Factorisation

Fully factorise the following by taking cut the COMMON FaGCTOR: —
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J) 1OxXyF-Sxy+SxBy k) m=n+n=m 1Y apy—ay

Fully factorise the fcllowing DIFFERENCE OF TwWO SRUARES; —
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d) 25a=-—-p= e) 8ip®-28x= 3 100y =F—121 =
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P xF—_x= Gy EEE y) 4d48tan®A — 3Itan®=p

Fully factorise the following QUADRATICS;: —

2) xFT+Tx+22 =] MR L+ st HELT w+10
d) ==+22w-"3 el HEL -G £ M +1 0O
) x=—4x+3 [ XZ+Gwu+18 i) R FHx— 20
3 Z2xF4HTx+3 k) Ex=+5Sx+2 1) 4x=24+7x+3X
m) 4x=+Bx+3 mnYy BIx=+11w—4 o) OxFE+11x—10
p) LExF+4x—TF ) 8xFT-8x+2 ) ZOMThLu~T
S) 12Z2%=+22w—14 t) PxB-RTOR+145 [ HKB—f x5
VI EXT-1F5w—F w ) 1D9H=+10x~-3D pI ] F—Ex—3Zx=
V) 2T+ QxTrLHx z) 8-2x—3x~*
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